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1. g 3R U &1 39 T 1. URL stands for:

(A) IFHH R dAdey (A) Uniform Resource Locator
(B) ATHIAG TR dAdhex (B) Universal Resource Locator
(C) IFHH R@lE dldex (C) Uniform Record Locator
(D) ATNAE Rafe oidex (D) Universal Record Locator

2. frfaRed # & @991 99 20 <@ 78 2. Which of the following is not a Web 2.0

37 tool ?

(A) =i (A) Blog

(B) Wﬂ'cﬁ (B) Facebook

(C) TTHMT 2.0-7, Sil. . (C) Infonet 2.0-UGC
(D) 3R TH. T4, BIe (D) RSS feed

3. FWEX P WANI @ AOF ¥ fod g@g 3. Computer memory is measured in :

&7 JIRT fom S & ?

(A) disc (A) Byte

(B) fdeiiarge (B) Kilobyte

(C) wTerEE (C) Megabyte

(D) Sugad FI (D) Al of the above

A190204T (3) Set-B



4, TAEIE S UMM & T TGOS B
ifehd FRAT B, Heald & -
(A) ISP T
(B) HPI Tl
(C) Yarard
(D) faofa

5. FWICR &I g [l AT O Wabell &

(A) F9e gfe

(B) amSTye e
(C) HEINI
(D) ¥4l g

6. ITHT TR ?

(A) T UIeT YR

(B) fetia 9t FvgeR

(C) WMRW M & oy wga wr
JUDXTT

(D) BSRR

7. G dARd WM BN dell faw g
- 8 ?
(A) UF Bl
(B) ®I-dre
(C) TR
(D) e faer

A190204T (4)

4.

A flowchart that outlines the
segments of program is called as :
(A) Micro Flowchart

(B) Macro Flowchart

(C) Flowchart

(D) Decision

The heart of computer is :

(A) Input unit

(B) Output unit

(C) Memory

(D) CPU
What is Abacus ?

(A) First Generation Computer

(B) Second Generation Computer

main

(C) An ancient device for simple

calculations

(D) Hardware

The most common input device is :

(A) Punched card
(B) Keyboard
(C) Scanner

(D) Voice input

Set-B



8. T UH-SW T :
(A) TgSUANTe RIS RieeH
(B) <IgH WART SARfET e
(C) Tdhd SWINTeAl ARfeT Rew
(D) SWE ¥ | FIg el

9. UGS WReM H Wi ¥
(A) UEEH
(B) WHIIehRuT
(C) WIEaRy
(D) SHIF W

10. ST ATl Fnfed wU §
(A) gUe¥IC S a1
(B) & Uil &1
(C) R Sraratol @
(D) SWa ¥ ¥ I3 T

11. @il 3o AEfefiad & dl9-ar & ?

(A) T

(B) VHISC
(C) FHRID
(D) ST W

A190204T

(5)

10.

11.

MS-DOS isa:

(A) Multiuser operating system
(B) Time sharing operating system
(C) Single user operating system

(D) None of the above

Password security involves :
(A) Identification

(B) Authentication

(C) Authorisation

(D) All of the above

The tree topology is a modified form of :

(A) Internet topology
(B) Bus topology
(C) Ring topology

(D) None of the above

Which of the following is a search engine ?
(A) Google

(B) Excite

(C) Infoseek

(D) All of the above

Set-B



12.

13.

14.

15.

[Hdedl & foly Hog AvcdiR o
ENT OgR fbar war & ?

(A) TS

(B) ISi®

(C) T
(D) s

fmforRaa # &1 faww @1 vganf

(A) BT

(B) dI. Tl Ta. TN,

(C) Re¥ ++

(D) Wi

gt wme # ufofafa fewr Sm
qTell U TIREH & -

(A) T

(B) B P

(C) wmm

(D) SWa ¥ ¥ I3 T

fgcir Ot & FwyeR # e v foar
ST © ?

(A)
(B)
(©)
(D)

A190204T

(6)

12.

13.

14.

15.

Sanjay software for libraries is devised

by :

(A) INSDOC

(B) NASSDOC

(C) UNESCO

(D) DESIDOC

Identify the odd one from the following :
(A) KOHA

(B) VTLS

(C) SLIM ++

(D) SOUL

An algorithm represented in the form of
programming language is :

(A) Flowchart

(B) Pseudo code

(©)
(D) None of the above

Program

The second generation of computer was
characterised by the use of :

(A) Transistors

(B) Chips

(C) Vacuum tubes

(D) IC

Set-B



16.

17.

18.

AR, TP, 378, 1. HISA I Alerhad ugr
@ A R 7 ?

2 94

1 T4,

10 9.

5 .

(A)
(B)
(©)
(D)

FEe AR TENREH & SUAN
T 8

(A) 9&R TRNFHT H

(B) 3TNIH TREOT 3fR feafi ¥

(©) T PIET A

(D) SHIE W

ffeiRad & | BI-91 e g6 AT
SIECAE K

(A) fem
(B)

(€) g

(D)

A190204T

(7)

16.

17.

18.

What is the maximum read range of the

RFID module ?

(A) 2cm
(B) 1lcm
(C) 10cm

(D) 5cm

Flow-charts and Algorithms are used for :

(A) Better Programming
(B) Easy testing and debugging
(C) Efficient coding

(D) All of the above

Which of the following is not a social

book marking site ?

(A) Digg

(B) Delicious
(C) Sqido

Facebook

(D)

Set-B



19. dPHC AYCIIN Udbol BT JINT fhas foru 19. CHECKMATE software package is used

T e & ? for :
(A) ARRIR (A) Acquisition
(B) XA HUSRT (B) Information storage
(C) SMRI®! fa=vr (C) Serial control
(D) UR=Ter (D) Circulation
20. TG SN LW @y 3 R 20. HTTP stands for :
(A) TEWR CRT TR Ueidid (A) Hyper Text Transfer Protocol
(B) TEWR THRT TN Helhid (B) Hyper Text Transmission Protocol
(C) TEWR TRC HIIH Welhid (C) Hyper Text Termination Protocol
(D) TREW RS LM ™ (D) Hyper Text Transmission Program

21. VHINIG I Uddl OFN 9§ fefey &9 gd 21, Optical fibers consist of thin strands of :
g

(A) e o= w3 (A) Iron like material

(B) ®F oIl AT & (B) Glass like material

(C) wiRed ol ARl & (C) Plastic like material

(D) SUYd H § I el (D) None of the above
22, HFICY qIIRA 22.  Computer virus can :

(A) T @ UfIEiT TR daHdr 2| (A) Replicate itself

(B) YN I B Ugel Hebell & | (B) Damage computer

(C) ST BT Yheld X Fehall T | (C) Manipulate data

(D) Sugad FI (D) All of the above

A190204T (8) Set-B



23. O B W AW AT ? 23.

(A) s TRAT Heda
(B) dlbel URAT -icad
(C) gsRY 3ffeier Fead
(D) SWE # W B &l

24, T @M ? 24,

(A) ESW
(B) WMCRR
(C) JITRfST Rien

(D) ST WG W

25. Il WMl & U9 ged Hi-9 § ? 25.

(A) BRI Hrenfis
(B) AR Wrenfira
(C) vfIUeRYT Ud el Heifa!

(D) Suga Wl

26. N9 BT 3 B 26.

(A) S g 7
(B) IS U4 HARI
(C) VA Tadd wARI
(D) << =y fafey

A190204T (9)

LAN means :

(A)
(B)
(©)
(D)

Library Area Network
Local Area Network
Library Automation Network

None of the above

UNIX is a/an :

(A)
(B)
(®)
(D)

Hardware
Software
Operating System

High Level Language

The major components of information

technology are :

(A)
(B)
(©)

(D)

Computer Technology
Communication Technology

Reprographic and Micrographic
Technology
All of the above

RAM means :

(A)
(B)
(©)
(D)

Road and Machine
Read and Memory
Random Access Memory

Rate Announcement Method

Set-B



27. U Ul & BRI @ (e & 27. The fifth generation of computers is

characterised by :

(A) 9. T TH. 3, (A) VLSI
(B) UdIGd Hihe (B) Integrated Circuits
(C) ®. M. 0. . (C) KIPS
(D) T TH. 3Ts. (D) LSl
28. WIZHIT &7 AfApR e fopar ? 28.  Who invented Microchip ?
(A) Fed (A) Intel
(B) 3. dl. A (B) IBM
(C) dI. T 3R . (C) BARC
(D) Hfderer (D) Macintosh

29. UM TYE ABNG Pl SYART B 29.  Where is vacuum tube technology used ?

g 7

(A) HEIR DI YoM Ul (A) First generation of computers

(B) HFIR i fgdira dig (B) Second generation of computers

(C) YR @l fgdid Td Jdg el (C) Second and third generation of
computers

(D) TRYR &I Ul Urel (D) Fifth generation of computers

A190204T (10) Set-B



30. U 93¢ Udh ReT & 30. A byte is astring of :

(A) 4 foca @ (A) 4 bits
(B) 6 facw @ (B) 6 bits
(©) 8 foca @ (C) 8bits
(D) 24 f9cHq @I (D) 24 bits

31, ffg dee @1 T fe9 TR @ 31. Chip technology is used in which type of

TR & fper o & 2 computers ?

(A) ¥THH FRYR (A) Mainframes computers
(B) YW dIX (B) Super computers

© Jﬂsﬁ PRI (C) Micro computers

(D) o PRGN (D) Mini computers

32. foad wgdl SodiND YN SNIES 32. Who designed the first electronic

R o By v &) & FEr o 39 computer called ABC ?

(A) dF = (A) Von Neumann

(B) . Ul Tae (B) J.P. Eckert

(C) Efas vad (C) Howard Aiken

(D) S fdie TemNG AR fdampe o (D) John Vincent Atansoff and Clifford
Berry

A190204T (11) Set-B



33, 3IS. o). U4, &I Tdod © ¢ 33. IBM stands for :

(A) IR GH R (A) Indian Bureau of Mines
(B) ¥R fauome &Ry (B) Indian Bureau of Marketing
(©) Cﬂv_d?‘rgﬁ?l IR 7N 71 (C) International Business Machine
Corporation
(D) SUYa H H Bl el (D) None of the above
34. d1 375, &1 P A9 ® 34. BIT stands for :
(A) fafesr s=ieye ot cararol (A) British Institute of Technology
(B) I 3@ (B) Binary Digit
(C) eIy Wrenfira) wvermd (C) Bangladesh Institute of Technology
(D) IR HANI Bl Th TS (D) A unit of computer memory
35. HRIX T : 35. Computers are :
(A) AR fSargd (A) Multistate devices
(B) T wc fSarsd (B) Two-state devices
(C) THhd W feasw (C) Single-state devices
(D) SUYa H § I el (D) None of the above
36. BH $FYCY b WY HAR IR Fhdl © 36. We can communicate with a computer in
a:
(A) Elﬁg‘f%rcﬁ S (A) Natural language
(B) Jodl @ AT H (B) Language of signals
(€) W @) 9 | (C) Machine (binary) language
(D) foir o rer # (D) Any language

A190204T (12) Set-B



37. WL UL Y &I AdeE T :

(A)

(B)

(©)

(D) TG TS fie

e wie e
Wl AT fre
W WRET e

38. U9 WL Td TP ¢

(A)
(B)
(©)
(D)

e

YD GIbTerd
IECERN
BRI AT HRgT

30. WEH AL S TH/IAqE. T IS, T,
forar Simar 2

(A)
(B)
(©)
(D)

40. TTSHI ). S TG, /TS, TH. IS, TH. B

(A)
(B)
(©)
(D)

A190204T

Rt
URhe |
CAEIRR
a1 et /1 H

BHIS FTford Uabol

¥ < o

-SRI Ul

Relaa Req

(13)

CPU stands for :

(A) Central Purchase Unit

(B) Central Processing Unit

(C) Central Protection Unit

(D) Curriculum Production Unit

HCLisa:

(A) Machine
(B) Modern Library
(C) Software

(D) Computer manufacturing company

Micro CDS/ISIS is written in :

(A) C language

(B) PASCAL

(C) coBOL

(D) PLA

Micro CDS/ISIS isa:

(A) Command driven package
(B) Menu driven package

(C) Self-instructional package

(D) Retrieval system

Set-B



41, HF-0 HRYCY Bl vgell digr o ? 41. Which was the first generation of

computer ?
(A) ISH BRI (A) Micro Computer
(B) g, T 3ME. T AL (B) UNIAC

(C) Y T M. 4 T A1 (C) UNIVAC-1
(D) R TR (D)  Super Computer

42. YTl wWEfed ToHT AW fhde R 42. The first automatic calculation machine

RBR @ TE o ? was developed by :

(A) TH. 3R, YA (A) S.R.Ranganathan
(B) P favafdemera (B) Kolkata University
(C) URDel (C) Pascal

(D) 3HdDHY (D) Abacus

43, frfoiad # | SH-81 B BT ag3Td 43. Which of the following company

B¢ %@ (vhd) BRIC § T oo @) owns/uses the Virtual Hard Disk (.vhd)

format for virtual PC ?

A H WRINT H AR S © 2

(A) s 4w (A) I1BM
(B) i< (B) Intel
(C) T (C) Google
(D) HIEHRITHE (D) Microsoft

A190204T (14) Set-B



44, TIEH TR I Ted T T, forem
I T FHTS Bl & 7

(A)
(B)
(©)
(D)

L dl g,

T T g
AP
Rl

45. fy=foriRag & 9 &9 UBRE @

Sldce TEgT 99 X&T & ?

(A)

(B)

(©)

(D)

RIS

I

o flier

PHRIR

46, WUCIR  UR9Id  fhar W Fadn

g

(A)

(B)

(©)

(D)

A190204T

SCIeE & ¥ & W o
ferfga U™ & We & Wy H
Yo & 9 & ®U 4

HICR Rcd & w9 4

(15)

What is the heart of micro computer,

which contains an arithmetic logic unit ?

(A) CPU
(B) ALU
(C) Microprocessor

(D) RAM

Which of the following is becoming an

electronic publishing medium ?

(A) CD-ROM

(B) MARC

(C) Laser Printer

(D) Computer

Software may be defined as :

(A) A set of databases

(B) A set of written programmes

(C) A setof packages

(D) A computer system

Set-B



47. PR T GEM JGURUIST B R 47,

PR aTell Ugell A off
(A) ITHA
(B) faweromers o
(C) -1

(D) -1

48, QT BT OF WUE G 2 48.

(A) BIEIR

(B) WMCRR

(C) HANI

(D) ITRFST Rven

49. SiTRfeT Rew & f=foReg T veR & 49.

T B &

(A) I TIM IR Fhferd T

(B) fIZT BRIFH UG TR BrRIdHH

(C) SUCRBY U4 e Al T

(D) <™ Y™ SR g Y™

A190204T (16)

The first machine to employ concepts

similar to a computer was :

(A) Abacus
(B) Analytical Engine
(C) MARK-1

(D) UNIVAC-1

.............. constitutes a collection of

programes.

(A) Hardware

(B) Software

(C) Memory

(D) Operating System

The ‘Operating System’ consists of the

following two types of programmes :

(A) Source programes and compiled

programmes

(B) Control programes and processing

programmes

(C) Interface and  stand  alone

programmes

(D) Long programmes and short

programmes

Set-B



50. Wi Bl H U Wiol I 8T el @ - 50. A search term in a search profile can be :

(A)  TuHGAl (A) A descriptor

(B) TRiRk™ &1 o8 I (B) Any word from a thesaurus
© gl # g (C) References in the articles
(D) SWE ¥ | FIg el (D) None of the above

51, Tadl 99 31fRIh SXIATe fhaT WM aTelt 51. Floppies are most commonly used media

S & with :
(A) R TR & G (A) Super computers
(B) HTHH HICX & WY (B) Mainframe computers
(C) i /IR & | (C) Mini computers
(D) HISH HFYCR & A1 (D) Micro computers

52. I @I (W PHYX) ¢ 52.  PCs (Personal Computers) are :
(A) HIHH BRI (A) Mainframe Computers
(B) Al HReR (B) Mini Computers
(C) ISshl BRI (C) Micro Computers
(D) IR TR (D) Super Computers

A190204T (17) Set-B



53. 1. Sl U9 /3. TH. 3Ms. TN, 914 arell 53. In CDS/ISIS formating language, what

W91 ¥ U ST & WU H AT 7 BT 7 preceeds as atag ?
(A) + (A) +
B) v (B) v
) 1/ ©) /
(D) =7 (D) «»
54. Jiffcdhel BIgER BT YN fhar orer 2 54. Optical fibre is used in :
(A) FYNHA bedliiT | (A) Computerised cataloguing
(B) ¥adrferd ey H (B) Automatic classified
(C) IR H (C) Telecommunication
(D) T 3R T Hawl H (D) Reference and information services
55. { WARI 31 UHR &I Bl T : 55.  Two kinds of main memory are :
(A) IS 19 fgdae (A) Primary and Secondary
(B) M 3R ¥ (B) ROM and RAM
(C) %ad XA (C) RAM only
(D) @dadl IH (D) ROM only

56. UNdhol Wiies @ AN @l afdwR fg  56. PASCAL adding machine was invented

a¥ foar T o ? in the year :
(A) 1671 (A) 1671
(B) 1822 (B) 1822
(C) 1942 (C) 1942
(D) 1932 (D) 1932

A190204T (18) Set-B



S7.

58.

59.

60.

HIgshT PRI BT Y -
(A) <. Sl TH-205

(B) ST
(C) . Sl ¥1.-6600

(D) s, 1. UH. ¢ T /2

B BT faebT FaTT o :
(A) 5050 §. U H
(B) 5000 §. Y. H
(C) 3000 §. . H
(D) 4000 §. Y. H

HICY T AT T &
(A) 9Ly

(B) HANI

(C) 3./ feargw

(D) Sugad F4I

SYINTHhdT D egH 9 el <ol

PR T ¢ |
(A) H=9E
(B) ®I-dre
(C) T (A) 3R (B)

(D) @dd (B)

A190204T

(19)

58.

Select the micro computer :
(A) CDS-205
(B) ANURAG
(C) CDC-6600

(D) IBMPS/2

Abacus was developed in :

(A) 5050 B. C.
(B) 5000 B. C.
(C) 3000 B. C.
(D) 4000 B. C.

The computer consists of :
(A) CPU

(B) Memory

(C) 1/O device

(D) All of the above

The user can enter the

through :

(A) Mouse

(B) Keyboard

(C) Both (A) and (B)

(D) Only (B)

data

Set-B



61. Pl-dIs ¥ M & 61. The keyboard consists of :

(A) W7 (A) CU

(B) HI9H (B) Mouse

(C) BERM FHull (C) Function key
(D) SWE ¥ | FIg el (D) None of the above

62. faver & fou ufog fode enT IR foar 62. Alice for window is devised by :

T ?
(A) T U T (A) ALA
(B) 3. Tal. T. (B) ILA
(C) U= (C) DESIDOC
(D) e fofd TRRm 1. fo. (D) Soft Link Asia Pvt. Ltd.
63. HIHTS TN BT GET TH T : 63.  Another name of secondary storage is :
(A) TS WUSRYT (A) Primary storage
(B) dI=I HUSRY (B) External storage
(C) 3ffIRad HUSRYT (C) Additional storage
(D) T qUsRU (D) Main Storage

A190204T (20) Set-B



64. DN WK goll § AV P13 2 64. In computer terminology ‘C’ refers

to:
(A) ¥4y (A) CPU
(B) @Il (B) Console
(€) #AN (C) Memory
(D) U TaT (D) Programming Language
65. PHYCY BT S D P B ? 65. Who is the father of Computer ?
(A) =S TRGA (A) Blaise Pascal
(B) T ool (B) Charles Babbage
(C) W AR (C) John Napier
(D) BT BN (D) Herman Hollerith
66. BRI DI q fRIvaN @ 66. The main characteristics of computer
are:
(A) T (A) Speed
(B) el (B) Accuracy
(C) favag-rmar (C) Reliability
(D) Sugad FI (D) All of the above

A190204T (21) Set-B



67. W AL & fov A SRS Rived ©

(A)

(B)

(©)

(D)

68. &H BIgdl Bl B, T BIgel deil oIl & :

(A) Rarda 39 4§

(B)

(©)

(D) IS BRI H

69. faver a4, & o 2

(A)

(B)

(©)

(D)

A190204T

LI IVA

g

. T9-S

BERECEE]

qg Ahed o

g BRI H

Urad G¥eheoT §
AR AR |
Tdhel AT H

TN PR H

(22)

Popular operating system for PC’s is :

(A) CP/M

(B) UNIX

(C) MS-DOS

(D) All of the above

When we delete files, the files go to :

(A) Recycle bin

(B) My Briefcase

(C) My Computer

(D) Internet Computer

Window NT comes in :

(A) Fifth Version

(B) Third Version

(C) Single Version

(D) Second Version

Set-B



70. SYINTHA] 9™ IR UNde & Ao Dl 70. The combination of user name and

Pl Ol & password is called :
(A) dITSe (A) Logout

(B) (B) Login

(C) a3 (C) Logoff

(D) A3 (D) Shutoff

71. ffaRed & & @90 F=gex URAfT 71 Which of the following is not a computer

T T R 7 programming language ?
(A) I (A) FORTRAN
®) R (B) BASIC
(C) ASCII (C) ASCII
(D) @ (D) COBOL

72. @aﬁewﬂw%: 72. INTERNET is simultaneously a :
(A) TeTd (A) Network
(B) YR HIUH (B) Communication Medium
(C) oF-<d 74 (C) Transaction Platform
(D) Sugad FI (D) All of the above

A190204T (23) Set-B



73. I 9T oI U, Uel. Udl. DI 7T 9T A 73. The language which converts HLL into

R a2 machine language :
(A) PUER (A) Compiler
(B) Wi (B) Interpreter
(C) 3rgeR (C) Assembler
(D) Sugad F4l (D) Al of the above
74, GRIRE & AGURVT Y P Y of 74.  The concept of virus was introduced in :
(A) 1949 (A) 1949
(B) 1946 (B) 1946
(C) 19477% (C) 1947
(D) 19427 (D) 1942
75. S dRRE ® Wy H O =7 75 Brainvirusis also known as :
I 2 |
(A) TR (A) Pakistani
(B) JHIdd W (B) Sunnyvale Slug
(C) ©§ aRd (C) Lehigh Virus
(D) YHaR 13dl (D) Friday 13th

A190204T (24) Set-B



76.

77,

78.

A190204T

HRCY $ AT qed JH WINT B 76,

W aTell T B0 7 2
(A)  HIA 7T

(B) PrSIdRd |l

(C) ST WRIY W

(D) = W W

IR-PIS ofdc] fbeas SYINT BT © 77.

(A) SRRIY YorTel!
(B) UR@Te™ Yomei!

(C) TTIRYT YoITell
(D) NMRID! =0T Yorrel!

HrIeY YTelifia! # Hrgex o1 31 2 78.

(A) Th Ifdd S AN U Hdhferd

BT ©

(B) UM & ®U H §B I

(C) ol UF 3R

(D) Jifelde YU ¥ Teh YU

(25)

What is the most popular language of the

computer ?

(A) Machine language

(B) Assembly language

(C) High level language

(D) Low level language

Bar-code labels are used in :

(A) Acquisition system

(B) Circulation system

(C) Cataloguing system

(D) Serial control system

In computer technology a computer

means :

(A) A person who compiles source

program

(B) The same thing as a program

(C) Key punch operator

(D) A program into object program
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79. AN dgAl B I8 1 $El W ® 79. Transmission lines is also called :

(A) R, A9 AT TH (A) Register, channels or trunks
(B) wfthe, o9 AT TH (B) Circuits, channels or trunks
(C) R, o AT TH (C) Memory, channels or trunks
(D) dfdhe, T AT IRER (D) Circuits, channels or registers

80. ‘Hiel’ fhde gRT Uvarfad fobam T 8 ? 80. SOUL is introduced by :

(A) A T . fafics (A) CMC Ltd.
(SIENIECERE (B) INFLIBNET
() @ (C) NICNET
(D) 3. ¥ T, ¥, (D) OCLC
81. 3UCIHC URIGIRR Tep =~ 2l 81. Internet Explorerisa:
(A) TR ATERR (A) Server software
(B) TTEC AMCdR (B) Client software
(C) IJaIEd WA (C) Translator software
(D) SUgdd FHI (D) All of the above
82. T H R A g ? 82. What is a bug ?
(A) DRI IRRY (A) Computer virus
(B) /IR fa=a # Ffe (B) Error in computer configuration
(C) uITHT H Ffe (C) Error in a programming
(D) SUYa H A Bl 7l (D) None of the above
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83. Ufegw 4 e BUNYM ENT 83. Pentium-4 is introduced by ...

fofyd foar T 2 corporation.

(A) PR (A) Computer

(B) TSN IR (B) Advanced computer
(C) T<d (C) Intel

(D) . v . fafics (D) CMC Ltd.

84. IR T, IS, O gy BT ST @TE? 84, Whatis the use of RFID Module ?

(A) T I TEH (A) Object identification

(B) 3l PrfdefAc] U B 2] (B) To provide 3G connectivity

(C) TIUHM J19 & foru (C) To measure temperature

(D) TR-BTS Pl &HAT AN & forw (D) To measure Wi-Fi strength
85. TUH GRS qrINd o 85. The first commercial virus was :

(A) 2l 9efs 30dl (A) Happy Birthday 30th

(B) M 1| (B) Ram drops

(C) 4 (C) Brain

(D) !l gl (D) Yankee Doodle

86. THHM U B RV e A R 86. The concept of artificial intelligence is

39 related with :

(A) Yo Yl HRYCY (A) First generation computers
(B) fgdiia didl drgex (B) Second generation computers
(C) g dIg HIeR (C) Fourth generation computers
(D) UTH Gl HFICY (D) Fifth generation computers
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87. foag WiicddR fode wared & forw 87. LIBSYS is a software for automation of :

g 7?

(A) JIBe fhardheral (A) Library activities
(B) 3iEnfire fhardmam (B) Industrial activities
(C) EiRued ¥ Jwfad fhardermat (C) Hospital activities
(D) SuYa H H Bl el (D) None of the above
88. T RiveA ¢ 88. Operating system is a/an
(A) TRADHIH AR (A) Application software
(B) R AleRR (B) System software
(C) TEIR (C) Hardware
(D) ™ (D) Language
89. TH T U ¥ Hwc: fha &t 81 € ? 89. AMANIs:
(A) IR dHad (A) Four cables
(B) T dadl (B) Three cables
(C) U® I 3 Iad (C) One or two cables
(D) T BEdA (D) Ten cables

90. g fohvaad gRT fawRyd foar mar ? 90. LINUX was developed by :

(A) Torfd eRaresd (A) Linus Torvalds
(B) forga WferR (B) Linus Grolier
(C) Torga MR (C) Linus Gosling
(D) UIeR TSIl (D) Peter Deslema
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91. U®. U & bl Hl aef g ? 91. FAQ stands for :

(A) SRR Y AN dlel T (A) Frequently Asked Questions
(B) 3R 3TN fe S aret g (B) Frequently Answered Questions
(C) IR ST T 99 (C) Frequently Added Questions
(D) IJRR FAg o Tl I (D) Frequently Advised Questions

92. fHfIRIT & W DIF-9 AP w1 92, Which of the following is an example of

JERT & ? microblogging ?
(A) CERCEil (A) Word press
(B) =T Wi (B) Blog spot
(C) g oid (C) Live Journal
(D) fefdex (D) Twitter
93. . . S Ofl BT3B 93. JPEG stands for :
(A) W HIeHthed faeys BB (A) Joint Photographic Expert Group
(B) chm BICTHE AT g (B) Joint Photogroup Explaining Group
(C) WY BIcReC AR Tg (C) Joint Photostate Extending Group
(D) wgad e faewe |98 (D) Joint Picture Expert Group
94. fa=foRad & § &9-91 ydid Femre &1 94 Which of the following symbols in a
ST Tey. ey o G AR flowchart are used to indicate all
| _ _ arithmetic ~ processes ~ of  adding,
subtracting, multiplying and dividing ?
®T 3T &= & forg fomm e & ?
(A) $TYC/3m3cyc (A) Input/Output
(B) cHd (B) Terminal
(C) IrIRfT (C) Processing
(D) vl (D) Decision
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95. HISH YANT fdhaT I Hahall @ :
(A) I Sl TH./3ME. U9 9. U9 @
il
(B) A B W
(C) <. Sl 79, /M8, T4, s, U4, @R
el Sl & WY
(D) SWE & W B &
96. BRI & WIOPH FHCH I R Hed
g °?
(A) HCRR
(B) ESUW
(C) FATRR
(D) SWa ¥ ¥ I3 T
97. AW AT ?
(A) SRfea e &1 73
(B) TUIhd ST
(C) @ Fadl ¥ feiied el
(D) feRieca §aa & AT & o
qgom @ fafd
A190204T

(30)

95.

96.

97.

Mouse can be used with :

(A) CDS/ISIS

(B) SOUL

(C) Both CDS/ISIS and SOUL

(D) None of the above

Physical components of the computers
are called as :

(A) Software

(B) Hardware

(C) Humanware

(D) None of the above

What is Modem ?

(A) Images of digital data

(B) Graphic data

(C) Sound signals to digital data
(D) A device to

convert digital

information to analog information
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98. Yo e g Ao febar ram & 2 98.  UNIXis developed by :

(A) &N TRGd (A) Blaise Pascal
(B) @ o tus sf Rl (B) Ken Thompson and Dennis Ritchie
(C) T T ure d. (C) AT&T
(D) WIHd IR, § (D) Stephen R. Bourne
99. T ATg. Wl I AT Dhal Rerd 27 99. The headquarters of NIC is situated at :
(A) TR (A) Bangalore
(B) % focel (B) New Delhi
(C) BxER (C) Hyderabad
(D)  leraTam (D) Kolkata
100. sﬂﬁ?ﬁ‘d g 100. Internetisa:
(A) T T U (A) MAN
(B) PRI -icdd (B) Government Network
(C) Had IS "ead (C) Commercial Network Only
(D) cad BT JIdIHRY (D) Globalisation of Network
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wemdt & 89 aRi fadwedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, T7 Tl H 3T MRaR fodm M1, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & 3ramar =9 ®el W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 el @l
AaIgdd U foram S |

e T & SWa Wendt v MRee B
3T OMR Answer Sheet SUTE &XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-eT ¥ ANT-gab, Defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN AT Iroid 2 |

7 & Rl U9 Sl wurReT § f=Tar g9 @l
T H U BT SN HUAROT & J= 2T |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

&
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